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1. FEFBIRA
O FEINA 59, 255 240,200 A 180,945
1 R R 7B 38, 200 38, 200 0
iy 5, 000 5, 000 0
HH R Bl e A 32, 000 32, 000 0
=y S 1, 200 1, 200 0
2 Wi FEULA 18, 000 16, 000 2, 000
Yy S AR TR 16, 000 14, 000 2, 000
NS S 2, 000 2, 000 0
3 12 04EFENRA 0 181,000/ A 181,000
12 045 FIA 0 181,000 A 181,000
4 FHBHNA 3, 055 5, 000 A 1,945
FHOBHIUA 3, 000 3, 000 0
1 2 O FEFEBHNA 55 2, 000 A 1,945
@ MENA 20 20 0
1 SZERLEA 10 10 0
= BF]E 10 10 0
2 M 10 10 0
LLAINN 10 10 0
FELBINAG 59, 275 240, 220 A 180, 945
2 EBIETREIS M
O \EHM 46, 210 163,720] A 117,510
1 SEmA>M 200 450 A 250
SHEE 200 450 A 250
2 REBZEWMEM 800 1, 050 A 250
TR A w R 800 1, 050 A 250
3 BIETEME N 1,310 1,210 100
BB 150 100 50
HER 120 110 10
EHRE 1, 040 1, 000 40
4 VHFEH-280E B ST 140 120 20
VB 2308 gt 140 120 20
b THFEALE STH 310 230 80
WAESE 310 230 80
6 ENRIBIAE 23, 500 23, 300 200
ENRI YA E 23, 500 23, 300 200
7 BRI 90 10 80
S Y — X B} 90 10 80
8 IR 5 0 5
PRRRE 5 0 5
9 U ShiklfE# X H 11, 000 71, 000 A 60, 000
W Sh I E R 11, 000 11, 000 0
1 2 0 FEathifEE 0 60, 000 A 60, 000
10 F#epk = H 1, 500 12, 500 A 11,000
FHOBH 1, 500 12, 500 A 11,000
11 §#te3 2, 000 2, 000 0
Wi 2, 000 2, 000 0
12 BB 2, 150 150 2, 000
N 2, 150 150 2, 000
13 FAPLATRSH 2, 000 50, 000 A 48, 000
FBATHR 2, 000 50, 000 A 48,000
14 AEETH 0 500 A 500
A4 0 500 A 500
16 AR B3 5 0 5
HHFE 5 0 5
16 HE3Z M 1, 200 1, 200 0
MeH 1, 200 1, 200 0
@ @& H 12, 827 75, 500 A 62,673
fth 2= 7 A& 3T 12, 827 75, 500 A 62, 873|A%EA 6,284
A S H 12, 827 75,500] A 62, 673|EABA 6,543
FEFEI X 59, 037 239, 220| A 180,183
TR E)N S =R 238 1, 000 A 762
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1. WEEBIA
O FEBEERAIRA 0 210 A 210
PRI EEM LB EETUR A 0 210 A 210
e Bl T FE R ST PE BUB I 0 210 A 210
BETRENIN G 0 210 A 210
2 BETREN
O HEEEREH 0 10 A 10
R RIS 0 10 A 10
e B H R ST PE RS 0 10 A 10
@ BEEEEREXH 200 200 0
11250 S BB A S 200 200 0
T i A i 200 200 0
BEEEXHE 200 210 A 10
BETEBIN S =R A 200 0 A 200
M MBEEEISZOLR
1. Y BIREI A
M ETE BN AGT 0 0 0
2 MHEREIH
U — 2 EHRERFEZH 38 0 38
U — R EEREZH 38 0 38
PABSTRENIN X = 4E A 38 0 A 38
IV TiEEXH
T & H 0 000 1, 000
TIHE 0 , 000 1, 000
WY =7 7R 0 0 0
AT R 32 2248 0 0 0
Y IR IR 52 7248 0 0 0
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